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Who was associated with Fashion Designingfield and they are recently passed away?

Dilip Kumar

Rinku Singh Nikumbh

Raj Kaushal

Satya Paul (Correct Answer)

Choose the option that is opposite in meaning to the given word. : Obum

shade

toturnin

illumine (Correct Answer)
obscure

What is the simplification of the expression (1-v3)/(1+

(-v3)+2

2+v3

3+v3

(v3)-2 (Correct Answer)

What is the work of The Inte netary Fund (IMF)?

International financia tion that provides loans and grants to the governments
Mobilize resource

Choose the
Kashriii

®

Answer)

Which festival is celebrated in state of Assam?

Durga puja

Hampi

KatiBihu (Correct Answer)
Nuakhai

How much profit Mr. Yogendra gained ? Statement 1. Mr. Yogendra sold a book ¥50 more than actual price.
Statement 2. Actual price of book is ¥600.

We can get the answer from statement 1 and statement 2 together.
Statement 2 is alone sufficient to answer the question but Statement 1 is not.
Statement 1 is alone sufficient to answer the question but Statement 2 is not. (Correct Answer)
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Awadh Commercial Bank was remembered because?

The largest first bank of india

High rate of percentage given

The first bank purely managed by Indians (Correct Answer)
Its was corrupted bank

Choose the option that is opposite in meaning to the given word. : Priggish

sensible (Correct Answer)
coxcombical
prim

unbending

Name of the dam which is built on the river Bhagirat hi?

Badua Dam
Ajan Dam ®
Sunkesula Barrage "
Tehridam (Correct Answer)

A person has 13 Laptops out of which 7 are of i9th generation. In Hew
such that atleast 5 of them are of i9th generation?

/S can he select 7 laptops

198
315
215
358 (Correct Answer)

If (1011011)2= (231)R then what is the v

7
4
5
6 (Correct Answer)

Inthe following queSti Is %,8,#,@ are used. All the symbols define the following meanings. 1.
A%B :Ais less a :Alls greater than or equal to B. 3. A#B : Ais neither greater nor smaller than
B.4. A@B : A ual to B. Conclusion 1. P%T. Conclusion 2. T@Q

Only Conclusion 2 foltows
Conclu 1 follows
nclusion 1 and Conclusion 2 follow (Correct Answer)

onclusion 1 nor Conclusion2 follows

he most appropriate prepositions : May be my grandparent s will visit us tomorrow, it completely
pends ______ the weather.

at
on (Correct Answer)

An alphanumeric Input is given to a machine as shown in question below. That machines process this Input
and gives an arranged Output. INPUT: 97 Happy Dear Lithium 99 47 5 Cow. Step I: 5 97 Happy Dear 99 47
Cow Lithium Step 2: 5 47 97 Happy 99 Cow Lithium Dear Step 3: 5 47 97 99 Cow Lithium Dear Happy Step
4:5 47 97 99 Lithium Dear Happy Cow Now same machine was given an INPUT: 5 John 51 Cherry 47
Mango Chair 90. What is the 2nd step for this Input?

5 47 John 51 Chair Cherry 90 Mango
547 John 51 Cherry Chair 90 Mango
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47 5 51 Cherry Chair 90 John Mango
5 47 51 Cherry Chair 90 Mango John (Correct Answer)

Choose the option that is nearest in meaning to the given word: Surfeit

nimiety (Correct Answer)
stint

temperance

sparse

Mr. Rawt ani borrowed 325,000 from a person at 12% simple rate of interest per annum. He invested the
borrowed money in a firm at 20% compund rate of interest per annum. How much profit he gained at th
end of two year?

11000

6000

5000 (Correct Answer)
36000

Rohan walks 10Km towards the east, and after that he tums right. After walking 15Kn takes left turn
and walks 10Km. Then he walks 30Km towards the North. How far is he directly:fro g point?

35Km
25Km (Correct Answer)
40Km
15Km

. They are sitting in conditions given
below- 1.D is not a neighbor of F and G but he is neighbo .2 Eis sitting to the 2nd left of G.3.Ais
1eighbor of F. Where is H sitting?

Infornt of D

Between F and C (Correct Answer)
to the third left of B

to the second right of A

Which of the following wa$ sent oy by the Hellenistic king Seleucus in India?

Megasthenes (Carrect éfiswer
Dagrise

Antiliphoni

Alecars

| tries to'€limb a greased thick wire of 12 meters heigth. In first minute she climbs 2 meters and
1 meter in the alternate minute. If she continues to climb in this manner, How much time does
ach at the top of wire?

utes 20 Seconds
22 minutes
2 minutes 20 seconds
21 minutes (Correct Answer)

If the exports inyear 2016 and 2020 was 600 crore and ¥800 crore respectively, then what was the total
of imports in those two years?

-
o

of value of Imports to Exports
o o © [P
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Ratio

2015 2016 2017 2018 2019 2020 2021
Year

1400 Crore

560 Crore

1500 Crore (Correct Answer)
960 Crore

Choose the option that is similar in meaning to the idiom used in the given sentence: Alice was very angry
and rebellious, when she was refused to party but she was not rose to the bait.

in a desperate position

ready for the party

woke up early Y
react as intended (Correct Answer) '

Which of the following is the largest and deepest of the world ocean basins?

Atlantic ocean

Indian ocean

Pacific ocean (Correct Answer)
Arctic ocean

Which article number is related to Six fundamental Rights entioned in Indian constit ution?

Article 13- 35
Article 13 - 38
Article 12 - 38
Article 12 - 35 (Correct Answer)

Choose the option that is nearest in meaning he given word : Desinence

commencement

console

conclusion (Correct AngWer)
inception

A can contains ON of sugar by weight and remaing of water. Now this solution is boiled so
that 23kg of #vaterevaporates and the solution now contains 30% of sugar in it. What is the original
quantity ugar in
92
3k \
@

6 (Correct Answer)

per table shown in this question what was the income of the company A in year 2015?

Company A
Year Expenditure &
Profit
X(In Crore)
2015 S50 a8%
2016 65 49%6
2L 70 50%6
2018 75 51%
2019 385 51%
2020 100 52%

50 Crore
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24 Crore
98 Crore (Correct Answer)
74 Crore

Which of the following battle was fought between the countries of Portugal and Britain?

Purtibritor

Panipat

Boxer safer

Swally Hole (Correct Answer)

Who of the following Basketball sports was invented by?

Victoria Skating Rink

Duke of Beaufort 4
Walter Camp

James Naismith (Correct Answer)

If a cylinderical wire is streched such that its height increases by 20% and its radius is redsed by 10%.
What is the percentage by which its volume changes? ‘

Increases by 3.1%

Decreases by 2.8% (Correct Answer)
Increases by 2.8%

Decreases by 3.1%

What is the next number of series 2,6,30,60,130,......... ?

260
200
210 (Correct Answer)
190

fother people may buy or borrow them, this is related to

Traditional econ

4

The people may sell or lend thei A
Capitalism (Correct Angfer)

Mixed economy

Socialism

Mukund purchased of Rice for Rs. 690, he had 20% loss on one fifth of bag, at what profit
percentage e sell the remaining Rice to earn 24% profit on a complete bag?

5% orre% Answer)

o

oose the option that is nearest in meaning to the given word: Insurgent

loyal

Rebellious (Correct Answer)
submission

patriotic

30 students are stadning rank wise in a row facing back of other student. Both end of row has either first
ranked or last ranked student. Nikita is standing 5th ahead of Poonam and Poonam is standing 8th to
backward of Ram. Rank of Ram is first. What is the rank of Nikita?
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4 (Correct Answer)

Choose the most appropriate optionto fill inthe blanks. : His
to success.

behaviour will no longer lead him

polite

cynical (Correct Answer)
guileless

ingenuous

Choose the option that is similar in meaning to the idiom used in the given sentence: The girl who was not
the fully shilling is now going to start a business.

a person with creative

a person who is nervous

not quick-thinking (Correct Answer)
begin to practise a new project

Choose the option that is opposite in meaning to the given word. : Limpid ‘ *

opaque (Correct Answer)
transparent

loiter

repugnance

Rohan and Kapil take a project of flyover repairing for Rs. 12Lakh. an can do this work alone in 4 month

and Kapil in 6 month. They need to complete this wor nth, so'they take help of Kushal and
completed the project on time. Then how much money for this project?

¥1Lakh

32Lakh (Correct Answer)

%4Lakh

Z6Lakh
Statement: Some Plates are Boo Books are Masks. Some Masks are Socks. All Socks are Curtains.

Only Conclusion 3 foltows

of the Khalji Dynasty were

gols from Tujebistan origin

from Afghan origin (Correct Answer)
A Jat tribe from Shindh origin

Afghani from Arab origin

Inthe following series what should come at blank place? YB,WD,TGPK,......

LO
KP (Correct Answer)
LP
KO

Bahadur points to the image and says : "She is the only sister of only son of my Father". What relation does
Bahadur have with this girl?

Father
Husband
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Brother (Correct Answer)
Uncle

In a soldering wire alloy, Tin and Lead are in the ratio 2:3. In the second alloy the Tin and Lead are inthe
ratio 1:3. In what ratio should these wire alloys be mixed to form a new solding wire with Tin to Lead ratio
of 50:40?

2:5
23
54
1:2 (Correct Answer)

Choose the most appropriate prepositions : Aunt Reema asked Sidtogo _________ the room and e
box _______ the drawer.
into, on
to,in (Correct Answer)
to, on
to, at
*

In a code word "JURASSIC" is written as "BHRRZQTI". What will be code fol THONY"?

CNOJYGH
YNOTHAN
XMNGSMZ (Correct Answer)
XNOTHAN

A work of same category was given to three groups. The
the ratio of days in which they will complete th ?

yorkman in the group is 7:3:12. What is

8:24:5

12:28:7 (Correct Answer)
7:312

21108

Coose the mssing term fr ions ? BOW,E6U,H24S K60Q,........
N1200 (Correct Ans
M120Q >

M64P

N64P

Accofding to s stories in the Sanskrit Avadhana, Which king had accepted the Upagupta as the
spiritua ache‘ or Monk?

_ Chandragupta
shoka (Correct Answer)

Which is related to muff couplings?

Spider coupling

Fluid coupling

Grid coupling

Rigid coupling (Correct Answer)

Which is used for examining the process indetail to identify areas of possible improvements?

Process chart
Productivity reports (Correct Answer)
Job cards format
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What type of first aid given, If you see a person fainting?

Try to be a calming

Call EMERGENCY number

Sweet to eat ordrink (Correct Answer)
A pillow under the head

Which is not an example of common pipes type?

Crass pipes (Correct Answer)
C.l. soil pipes
Brass pipes

Galvanized iron pipes

What is the length of open belting if the centre distance between the pulleys is 10m and
larger pulley and smaller pulley is 0.5m and 0.25m?

11.18m Y
21.18m (Correct Answer) >
20m

22.18m

What is denoted the fourth digits in AWS codification of carb
electrodes?

-alloy steel coated

Type of flux coating. (Correct Answer)
Flat & horizontal positions for electrodes.
Flat & down hand positions for electrodes.

Tensile strength of thedeposited weld me

Which types of alloy are used to making jewellery?

Free cutting brass

Gilding metal (Correct An
Naval brass

Admiralty brass

What is the Vel ky ra f gear if Number of teeth on the worm wheel is 56 and Number of starts

on the wor

(Corre nswer

elding process is fastest to all other process?

TAW
GMAW (Correct Answer)
SMAW
SMTW

What is the length of open belting, if diameter of large and smaller pulley is 8 and 2 respectively, and
centre distance between the pulleys is 26m?

67.71Tm (Correct Answer)
26.45m

8.96m

15.8m

Which maintenance method is oldest maintenance approach?



Scheduled maintenance
Predictive maintenance
Proactive maintenance
Reactive maintenance (Correct Answer)

62 In which condition of wrapping angle, that the pulley can be transmit high torque?

No effect is produce

Medium wrapping angle

Bigger wrapping angel (Correct Answer)
Lower wrapping angle

63
Which signs represent s the infection when diagnose an unconscious injured person?

Saliva around the mouth
Red streaksaround a wound. (Correct Answer)
Under dosed
Smell of alcohol
*

64 What is the Yield stress ratio of class 5.8 screw?
220 N/mm’
520 N/mm’

420 N/mm?  (Correct Answer)

320 N/mm’

65 Designation of V-belt as perIS:

1620
1989 aa
2494 (Correct Answer)
1145
66  The ratio of the \r\ to the slack side of belt tension is Commonly knownas_____
Belt rati
Tight r
Force ratio

n ratio rrect Answer)
&

failure does not happenby______ ?

Assassin bug

Invades bug

Brain bug

Lightening bug (Correct Answer)

68 Which type of used wrench for pipes with diameters of 50 mmto 150 mm?

Chain pipe wrenches (Correct Answer)
Multi-wheel chain pipe wrenches

Chain pipe vice

Portable folding pipe wrenches

69 Which type of fuel is related to class C type of fire?

Flammable liquid
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Uds dIa lguelieu gyas (Lolect Alswer)
Involving metals
Wood, paper, cloth

Which is the simplest form of fixtures?

Tool guiding

Plate (Correct Answer)
Indexing

Vice jaw

Which type of work does not provided by lubricants?

Decreasing the friction

Prevents corrosion
Cooling the moving elements
Increasing adhesion (Correct Answer)

What is the tension ration of a belt?

The ratio of the loos side to the tight side tension

The ratio of the tight side to the slack side tension (Correct Answer
The ratio of the Pulley side to the tight side tension

The ratio of the slack side to the tight side tension

Antifriction bearings should be handled in_ environm

Dust free (Correct Answer)
Oil free

Leakage free

Moisture free

Which test is to ascertain the precisi
has been designed?

ine tool for the finishing operation for which the machine

Geometrical test
Performance test (Copéct A
Depreciation test

Levelling test
Identify the@in diagram?

BENT PONT —_

Pointer

Dividers

Datum

Plain scriber (Correct Answer)

Infection is considered hazards.

Psychological
Biological (Correct Answer)
Chemical

Phucinlaniral
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77 Which type of fasteners is generally used on light duty machines?

Crescent plate belt fastener

Wire type belt fastener (Correct Answer)
Lagrell type belt fastener

Jackson-type belt fastener

78 Identify the gear type shown in above figure?

Bevel
Mitre
Helical (Correct Answer)
Spur

79 Which is not a correct property of aright electro

Smooth weld bead 4
Maximum spatters (Corre

Fast deposition

Maximum weld stren

80 Which part not bgfchecked, | leakage problem occurs when torch cutting?
Regulatol '
Cutting tip.atta-c part

Injector ( ct Answer)

system transmits motion at right angles to the axis of motion at different planes?

Rack and pinion

Worm gear

Hypoid gears

Bevel gear (Correct Answer)

82 Which is represented the half dog point set screws?




= T v
A B C D
A
C
B
D (Correct Answer)

83 Which is the correct sequence followed of installation of machinery? 1.Foundations 2. Testing 3.Fittin
and moving 4. Levelling

2>1>4>3
2>3>1>4
1>2>3>4
1>3>4>2 (Correct Answer)

84  Identify the timing belt? *

(Correct Answer)

)

{
N

|

85 Which type of belt is used when the distance between the shafts is too short?

Link belt

Ribbed belt

Timing belt

V belt (Correct Answer)



86 Respiratory protectionis proteced to

Electric shock

Falling objects

Working wet area

Fumes (Correct Answer)

87 What is indicating the 10 Litre/ Minute ?

Pressure
Gauge Pressure
Flow rate (Correct Answer)

Absolute Pressure

88 Which is not a section of test charts when making testing of machine?

Performance test

Geometrical test

Levelling

Depreciationtest (Correct Answer)

89 Which cycle does not related to PDCA cycle model?

DEMING CYCLE

STEWHART CYCLE

CONTROL CYCLE

PROTECTIVE CYCLE (Correct Answer)

90 Lead is produced fromits ore

REMLAP

LAMENT

PAEAN

GALENA (Correct Answer,

). Electric shock
IR rays heat (Correct Answer)
Hot spatter

92 Which is not a perfect guideline for tool storage?

Store tools in a clean and organized space

Store tools in an area protected from the elements
Store tools in a well-moisturise area (Correct Answer)
Store tools in a well-ventilated area

93 Base circle diameter is denoted by____.

df
ha



db (Correct Answer)
hf

94  Identify the name of above nut type?

Sawn nut
Wiles nut

Castle nut (Correct Answer) ;
Slotted nut

95 Which is shown the Ribbed be

(Correct Answer)
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96  Which work can be done by only fixtures?

Guide the cutting tool
Drilling and counter boring,
Countersinking

Fixed to the machine table (Correct Answer) *

97  Whichis used for turned components requiring to strength and corrosio anc ch as valve

spindles?

Cast phosphors bronze

Admiralty gun-metal

Drawn phosphors bronze (Correct Answer)
Low tin bronze

98 Identify the Machine screws type that showndn figure?

Green
Red (Correct Answer)

100 Which of the following activity to be performed for do not overload platform, floor and keep material at
safe height?

Disposal of Scrap

Piling Methods (Correct Answer)
Cleaning of shop floor

Mat erial handling

101 Whirh ie ~rarrart far hraakdnwn maint ananra?
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Predictable activity

Cost of maintenance is high

Undertaken only beforebreakdown

Undertaken only after breakdown (Correct Answer)

102 Which is not a rainwat er harvesting method?

Percolation trenches

Direct pipe well method (Correct Answer)
Service well cum reckage well method
Soakpit

103

A device used to connect pipes known as

Unions (Correct Answer)
The hexagonal nut
Reducer concentric

Tee

104  Which type of material is good insulator against nuclear radiation?

Zinc

Aluminium

Lead (Correct Answer)
Steel

105  The stress on arounded back can be about > is kept straight.

Three times greater

Five times greater

Four times greater

Six times greater (Correct Answe

106 The melting temperature of

1201 °C
1085°C (Correct Ans

1820°C >
880°C

107

_

ich is a part of hacksaw blade?

Handle

Centre line (Correct Answer)
Frame

Retaining pins

109 Which type of maintenance is undertaken only before to stop breakdown?

Preventive (Correct Answer)
Periodic

corrective

breakdown



110 what is represent the symbol of documentation as per industrial needs?

Transport

Inspection (Correct Answer)
Operation

Delay

111 What is the advantage of using aluminium alloy over steel?

Fatigues

Lower modulus of elasticity, therefore, increaseddeformation
Low elongation values

Can be anodized (Correct Answer)

112 Which method of waste disposal is most sustainable? *

Reuse

Energy recovery

Recycle (Correct Answer)
Compost

113 What is the part name which is indicating with 6 numbers in abovefigure?

Which type of copper alloy is used the least quantity of copper in alloys composition?

Standard brass

Muntz metal (Correct Answer)
Cartridge brass

Basic brass

115 Which type of Remedy recommended when belt slips?

Align the pulleys

Introduce a fly wheel in the drive system
Provide belt guards

Reduce the load (Correct Answer)
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PASS is use for the fire extinguisher, what is the meaning of S which is third position on PASS?

Squeeze (Correct Answer)
Stop

Sweep

Split

Formula for velocity ratio of gear trainis____

N1T2=N2T1
N2T1=N1T2
N1TN2=T1T2
N1T1=N2T2 (Correct Answer)

Which pulley have function of the pulley keyed to the shaft is to convey rotation from the
driven pulley by means of a belt?

Crowned face of pulley

‘V’ groove pulley
Tight of pulley *
Loose pulley (Correct Answer)

The above figures which type of operation perform by Drilling jigs?

N
L

g

Drill
Ream
Counter
Chamfer (Corect Answer)
@
Which i Jenny caliper?

phrodite calipers
. Leg and point calipers
lain caliper (Correct Answer)
0dd leg caliper

What process is the workpieces are initially prepared by acid pickling or grit-blasting. They are then placed
in arotating steel barrel containing zinc powder, and heated to a temperature around 3700C.

Sherardizing (Correct Answer)
Calorizing

Cladding

Chromizing

Which type of clamp is shown in above figure?



Strap clamp

Latch clamp

Toogle clamp

Screw clamp (Correct Answer)

123 Which type of testing is related estructive Testing?

Radiography (Corregf Answer)
Crash testing

124

ich is used to distribute the clamping pressure over a larger area, and prevent the surface damaged?

Washers (Correct Answer)
Nuts

Stud bolts

Screws

126 Which is provided with tendons at its bottom for proper location of the fixturewith the machine table
through Tee slots for a milling fixture?

The setting blocks

Base plate (Correct Answer)
Standard clamps and locators
Balancing weight
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Which type of test can be done for carried out to know the grade of accuracy the assembled machine
while idle?

Performance test

Levelling test

Standard test

Geometrical test (Correct Answer)

Which is produced from Cassiterite?

Aluminium

Zinc

Lead

Tin (Correct Answer)

Which type of trouble is produce when centre distance between the pulleys is more?

Frequent belt spoilage

Belt squeals. ®
Belt Slips

Belt whips excessively (Correct Answer)

Which type of machine is known as radial arm cutting machine?

circle cutting machines

Straight line cutting machines

Pipe cutting machines

Profile cutting machines (Correct Answer)

=

Which is related to the sleeve which couples comprises two halves bolted together?

Gear coupling (Correct Answer)
Bushed Pin type Coupling
Flexible Coupling

Chain Coupling

Levelling of a machine

levelling can
It should
It must
loads

or (Correct Answer)
Oxygen conduit
Acetylene gas valve
Oxygen hose joint

Which is not an application of Grid Coupling?

Gear Boxes

Electric Motors

Lift machine (Correct Answer)
Conveyors

What is the thickness, If D=40 is the dia. of the shaft, width of the key W= 1/4D+2 mm. and Nominal
thickness T = 2/3 w.

12mm



18mm
26mm
8mm (Correct Answer)

136  What is the capability of pneumatic torque wrenches range up to a maximum of

28,200Nm
40,800Nm
47,600Nm (Correct Answer)
36,500Nm

137  Whichis not atype of rigid couplings?

forged flanged coupling
Unprotected type flanged coupling
Muff couplings

Grid coupling (Correct Answer)

138 What is the correct use of Zinc? *

Preparation of paints

Preparation of solders

Insulator against nuclear radiation

Coated the Galvanized iron sheets (Correct Answer)

139 Which information is not important for ensuring the after repairin: machines?

It will yield an accurate product

It has been properly fixed in position

it has not been distorted in transit

It has been properly coloured (Correctgins

140  Which type of work does not done by

set workpieces at right angle
cut onits surface (Cog€ct A
check the square-ngs§s
check the flatne

4

141 In which yea one depleting substances regulation occurs?

*
yrrect Answer)

42 Whichtype of bushes are used when more than one operationis performed in the same location.
ress fit bushes

Slip renewable bushes (Correct Answer)

Fixed renewable bushes

Liner bushes

143 Pedestrian crossing sign is considering in which category?

Cautionary (Correct Answer)
Mandatory

Informatory

Special

144 Which of the following is not including in workshop safety categories?
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148

149

150

Personal safety

Machine safety

financial safety (Correct Answer)
General safety

The cheek of a hammer is

Middle portion of the hammerhead (Correct Answer)
Tightness part of hammer ends

Handlein the eyehole
bending

Which is not a Purpose of gears?

To change the direction of rotation

To get a positive drive

To change the velocity ratio

To change the input power of machine (Correct Answer)

Which is used for the safe removal of keys from the shaft of any type of m
etc?

céfpressor

Sunk key

Splines key

Key puller (Correct Answer)
Peg feather key

Which type fasteners is used in joining belting for indu

Alligator (Correct Answer)

Lagrteral
Wire type
Lagrelle
Which precautions is not nece n screwdrivers?
Use screwdrivers with tif's ¢ ing into the screw slot
Make sure your han re dry.
While using a Philips s: i pply more downward pressure
Hold the screwid is in right angle with the axis ofthe screw (Correct Answer)

Which is t i rom the point of one tooth to thecorresponding point of the adjacent tooth
measured onpitch circle?

ular pitch (Correct Answer)
circle diameter



